Quiz (2) First year — Electrical Engineering (power)

DS 3 (e n) 230 L) o

Answer the following question:
(1) If A=Vg where g=2°x3y find VxA, V.A.

(2) Evaluate IE.dF from (1,0,1) to(0,1,1) along x 2 +y 2 =1, z =1 for
C

F =(yz+2X)i+(x2) j + (xy +22)K..
(3) Evaluate HE.ﬁdS where F =2y i —2 T+X2E and S determined by
S

y2:8X, X,y,Z 20, y :4’2 :6
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Answer (1)
A=Vp=227, 927 9%
OX oy 0z

=i(z 2x?’y)i_+ai(z 2% 3y )j_+ai(2 2x?’y)E=32 2%y i +2°x3] +22 x3y Kk
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Answer: (2)

Evaluate jE.dF from (1,0,1) to(0,1,1) along X 2 +y 2 =1,z =1 for
c

F=(yz+2x)i+ (xz)] +(xy +22)K .
Answer:

[Fdr=] (yz +2x)dx +(xz)dy +(xy +2z)dz
S c

Since z =1 then dz =0 the integral becomes




I (y +2x)dx + (x)dy along the circle x 2 +y 2 _

C
(0,)
j(y +2x)dx +(x)dy = [ (y +2x)dx +(x)dy
1,0)
wl2 zl2
= [ [(sin@+2cosO)(-sindd ) + cosHcosld o= | [—(sin26?+2cos€sin9)+c052<9}1|6?
0 0
712 2 1
= [ (cos20- sun29)d9——[sun29+cosze]” :5[—1—1]:—1
0
Answer (3)

Evaluate ”E.ﬁdS where F = 2y i—z T+X2E and S determined by
S

y2:8X1 X,y,zzo,y:‘l,z :6.

Answer:
p=y°-8x, Vo =-8i +2yj, 5=_8l\;£yj’ ’7-’_=%
Fn=(2y7-2 I+x2ﬁ).[‘8'j£“ ]_‘1626‘_8”2
as 2920y 68 4
n.i -8
f[F s - H( 163@”2) H( e Zyz)dZdy

Where A is the rectangle with vertices (0,0,0),(0,4,0), (0,4,6) and (0,0,6) in zy- plane
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